flux

A? / 1.488

AP/ 1.484

15

10

0 100 200 300
——

—-100

Fe2 + Continuum Fit
Opep 530 +/— 192 km/s
e e e e

oy 776 km/s

X, / 4566 = 1.488
YT IS I —— |

3000 3500 4000

Rest A (&)
Fe2 Scale Factor X2 Diagnosis
oy 776 km/s 0.0663(19) szin / 4566 = 1.488
S T T T T T T T T T T T T T T T T T T T T T T T T
- rm690 -

0.055 0.06 0.065 0.07 0.075

Fe2 scale factor

Fe2 Velocity Dispersion X2 Diagnosis
oy, 114 1920 prior 225 km/s 460(190) szin / 4566 = 1.488
T T T T I T T T T I T T T T I T T T T

rm69( RMS 50.2
MAD 31.1

Fe2 Dispersion (km/s)



